3IRIAVS 9ISIPD 3relAeIrol Ud ufdrsgiur uf¥yg, it
aiftfes uzlem (2023-24)
JHiscT U1 UsI(Model Question Paper)

DEII- 10 fererr- srfora - 03 HeT quTic- 80
Class-10 Subject- Mathematics Time - 03 Hr. Full Marks-80
A1HI foIS9r:-
o u3ietreff 2renisna 3ol oreck 3 I S|
Candidates should answer in their own words as much as possible.
o 1t uat siforart 3
All questions are compulsory.
o el Ul bl AT 52 3l
Total number of questions is 52.
o Ul | A 30 AD IBIADICURI U%T 3 | Ul Usel b dR Ay f&u o1 31 318l faeu
b1 RIol DI UIdb U%et & e 01 3idb forerifa 3l
Question No. 01 to 30 are multiple choice questions, each question has four options. Select
the correct option. Each question carries 01 mark.
o U°GI ACAT 31 A 38 7D 3Ifel e STRI Ul 81 {51191 A febodt 6 Uil DI It Soll
3iforart 31 Ui Ussl BT el 2 3idb foreriyd 3l
Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 02 marks.
® UGl AT 39 A 46 D ofg IR Ul 31 FS11 A foboet 6 Uil DI 312 Soll
aifordart 31 Ul Ussl ol Alal 3 3idb forerifya 3l
Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 03 marks.
o UGl AT 47 A 52 S ITRRI U1 31 fdbodl 4 Usell Pl 31 ol 3ifordr 81 Urdld

U1 I ol 5 3 forerifda 3
Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4

questions. Each question carries 05marks.
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1. 156 DI IS JUICRAS] D IUIeIBe] O U i [T SIT ADAI S :

()2 X3X7X11 (b)2 X2X3X13
()2X2X11X13 (d)2 X2 X3 X7x13
The prime factorisation of 156 is written in the form of :

(A)2 X3 X7X11 (b)2 X2X3X13
()2 X2X11X13 (d)2 X2X3X7x13

2. 6/15 DI G UAR AT 372

(a) Al (b) 3RAIA 3Mddl
(¢ ) 3IAI 3olracdit (d) Soldi 2 DIs olal
How is the decimal expansion of 6/15 .
(a) Terminating (b) Non-terminating recurring
(c) Non-terminating non-recurring (d) None of the above

3. [fdpaft wgug p(x) d fe1e a1 it 9 f&=1 sR11 8 | agus b oIl bl At foreot it
3 ol:-
(a)3 (b) 4 (©) 1 (d)5

The graph of a polynomial p(x) is given in the figure. Choose the number of zeroes of the

polynomial p(x) from the following :-

()3 (b) 4 (©1 (d)>5

4. fgaradsus x* - 7x + 12 ® o=AD! I Al fofeol 31 3 Joi :

(a) 6 (b) 7 (c)-7 (d)12
Choose the sum of zeroes of the polynomial x’-7x+12 from the following:-
(a) 6 (b) 7 (c) -7 (d)12

SIRAIUS IISID 3[ofRieIol ud UfSIsur ufdvg, At [arftfes u3ie) [331: 2023-2024]  Page 2 of 11



5. 3Rao JeftpvIPed a;x + by + ¢, = 04 ayx + b, y+ ¢, = 0PI DIS &el

olal alerl,
At -
a1 _ by ‘1 Ga b1 _ <«
@) a; by * o) ®) a > b, o)
“ - bh_a @, bhya
(C) a2 - bz CZ (d) Cl2 :'t b2 #: C2

The pair of linear equations a,x+b,x+c,=0 and a,x+b,y+c,=0 will have no solution

ifi-
%= e wi e b=
il Ch
6. AHDII x —y+ 9=03MR3x—2y+ 12 = 0 D gRI foreta 3ars:
(a) Aurctt 3 (b) AR 8. (c) Ufercesct 8 (d) TIFEAA 3
The graphical representation of linear equations x-y+9=0 and 3x-2y+12=0 is :-
(a) coincident (b) parallel. (c) intersecting (d) perpendicular.
7. AHIDVIYEHA 2x+y=63R 5x —y = 1 PIaci s :
(a) x=4, y=3. (b) x=1, y=4. (c) x=4, y=1 (d) x=-1, y=8
The solution of the pair of linear equations 2x+y=6 and 5x-y=1 is:-
(a) x=4, y=3. (b) x=1, y=4. (c) x=4, y=1 (d) x=-1, y=8
9. forForfc1Rac i A dlal fGard Asfiapur 82
(a) (x-3) =x"-7x +5 (b) (x+1)* =x" -5x+7
(c) (x+1)’ =2(x-3) (d) x*+4x +1 = (x+3)’
Which of the following is a quadratic equation?
(a) (x-3)=x"-7x +5 (b) (x+1)* =x" -5x+7
(c) (x+1)’ =2(x-3) (d) x*+4x +1 = (x+3)’
10. fard Jfidr x* + 7x +6 = 0 D Hcll DI UDKI S :
(a) AIFCATAD eI AHIol (b)dIZAlddD e AT
(c) JHATSL (d) aI¥AfAD oldt
The nature of roots of the quadratic equation x*+7x+6=0 is:
(a) Real and equal (b) Real and distinct
(c) Equal (d) Not real
11. afe fgard Apur x* -4 x + k =0 DI AT AdHTol 8l, I k DI Hlol BIGII:
(a) 3 (b) 3 (c)4 (d) Soldl 3 DIS olal
If the roots of the quadratic equation x’-4x+k=0 are equal ,then the value of k will be :
(a)3 (b)3 (c)4 (d) None of the above
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12. AP.:24,21,18,... DIAM 3RS :

(a)3 (b) -4 (©)5 (d)-3
The common difference of the A.P. : 24,21,18... is.
(a)3 (b) -4 ()5 (d) -3
13. AP.:2,7,12,...@I110dl UG 3:
(a) 245 (b) 47 (c) 52 (d) 57
10" term of the A.P.:2,7,12... is:
(a)245 (b) 47 (c) 52 (d) 57
14. AU B9[S O ABIA DIV ................ B8 |
(a) TRAI (b) AATGIUIAL (c) AT (d) clFaada

Corresponding angles of similar triangles are:-
(a)Equal (b) proportional(c) parallel (d) perpendicular
15. AABC 3 Ii& DE|[BC &I a2l BD =7.2 cm , AE =1.8 cm 312 EC =5.4 cm 8l dl AD I HIol
ORI BI9II?

(a) 21.6 cm (b)2.6 cm (¢c) 2.4 cm (d)3.6cm
In AABC if DE||BC and BD=7.2cm, AE=1.8cm and EC=5.4cm, then what will be the
value of AD?

(a)21.6 cm (b) 2.6 cm A (c)2.4cm (d) 3.6 cm

./ \.
VAR

16. AABC 3, AB=6V3 cm, AC =12 cm 302 BC =6 cm @I, Al BIVIB 2

(a)120° (b) 60° (c) 90° (d) 45°
In AABC, AB=6\/3cm,AC=12 cm and BC=6 cm, then value of ZB is :
(a)120° (b) 60° (c) 90° (d) 45°
17. feigaii (2,3) 3R (4,1) D dfadbi gl s:
(a) V6 ADID (b) 42 HABID (c) 3\2 APID (d) 2\2 APID
The distance between the points (2,3) and (4,1) is :
(a) V6 units (b ) 4\2 units (c) 3V2 units (d) 272 units
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18. ferogail (2,5) €1l (4,7) D1 f3TcTIol arcl RARGS I 3¢ feog &:

(a)(1,2) (b) (5/2,772)  (c) (3,6) (d) (6,12)
The coordinates of the mid-point of the line segment joining the points (2,5) and (4,7) is :
(a)(1,2) () (5/2,72) () (3,06) (d) (6,12)

19. =f& A(0,0), B(5,0), C(0,6) 8l, dl AABC I &I510bcl 3191l :
(a) 30 WIABID  (b) 15 oI AGID (c) 60 ddI ABID (d) o191 2 DIS oIdl
If A(0,0) B(5,0),C(0,6) ,then the area of the AABC will be :

(a) 30 sq. units (b) 15 sq units.
(c) 60sq. units (d) None of the above
20. AfS sinA = % 3l, dl tanA oI Tol Bl
4 5 3 4
()2 (b)7- ©7 @3
If sinAzz, then value of tanA will be :
4 5 3 4
O (b)7- ©7 @3
21. AfS 2sin’A=18l, Al LA I 3ol 8191 :
(a)30° (b) 45° (c) 0° (d) 90°
If 2 sin’A=1, then the value of ZA will be :
(a)30° (b) 45° (c) 0° (d) 90°
22. cos 48° - sin 42° I HATIG BIoM:
(a) cos6° ®)0 ()1 (d) sin6°
Value of cos 48°- sin 42° will be :
(a) cos6° )0 (©1 (d) sin6°

23. 91fé1 O uep foig A, St Aol & urs- fdig 2 30 m I gt uz 8, stor &b forzaz o1
3oolIol DIUI 30° 3, dl ol i Sars 3:
(a) 30 m (b)153m  (c) 10¥3 m (d) 203 m
From a point on the ground, which is 30m away from the foot of a tower,the angle of

elevation of the top of the tower is 30° ,the height of the tower is :

(a) 30 m b)15V3m  (c) 10¥3 m (d) 203 m
24. uo qel Bl foerofl Tuel 3ars 8l At 8 2
(a)0D (b) Gl (c) 3loid (d) 3oTdi A DIS oIt
How many tangents can a circle have?
(a) One (b) Two
(c) Infinite (d) None of the above
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25. Al TP, TQ g O drcl fdp=il arT U= o1 U9l 318 33 UDPR 8 fdb £ POQ = 110°, Al
4L PTQ WIER3:
(2)60° (b) 70° (c) 80° (d) 90°

If TP, TQ are two tangents to a circle with centre O such that ZPOQ = 110°, then
ZPTQ is equal to:
(a)60° (b) 70° (c) 80° (d) 90°
26. Ale B gl I UReU 3112 SIWel IRFAMCHD FU A RIER 3, Al 3 gl bl Broa &:

(a) 2 ADBID (b) T AGID (c) 4 ABID (d)) 7 ABID
If the perimeter and area of a circle are numerically equal, then the radius of that

circle is:

(a) 2 units (b) T units (c) 4 units (d) ) 7 units

27. U AISI 7 e cid IRM A v A1 b ATl 1 Fel1 3 | 3 1I6T DI SIIBel TII SISl
TSR dIST IR O ADAI & ?

(a) 154 m? (b) 54 m? (c) 154/7 m? (d) 49 m?

A horse is tied to a grass field witha 7 m long rope. What will be the area of the

part in which the horse can graze grass?

(a) 154 m? (b) 54 m? (c) 154/7 m? (d) 49 m?2.
28. AGA S diA DI oIS TATS Sl UD 12 m o, 9 m AVS I 8 m 35l D 3 3xdt I
Al 8l
(a) 12 4. (b) 17 4. (c) 21 4. (d) 19 4.
What is the length of the largest bamboo that can be placed in a room 12 m long, 9 m
wide and 8 m high?
(a) 12 4. (b) 17 4. (c) 21 4. (d) 19 4.
29. Jcd-aet e vd et ararRar & dfa didsRIscra ... ... DB |
(a) 3 DH YD DI AU (b) A 3D UDIR' DI AR
(c) a e b Gloil (d) Soldi A DIs oIal
The graph drawn between upper-class limit and cumulative frequency is known as:
a) 'less than ' ogive (b) 'more than ' ogive
(c) aand b both (d) None of the above
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30 foraotfctRad 31 A dior 2t Je=n fopft acotr b urRrasdr o8l a1 Aol 2

2
(@2 (b) 1.5 (c) 15% (d) 0.72
Which of the following cannot be the probability of an event?
2
(@7 (b) 1.5 (c) 15% (d) 0.72
forao1 3i A fAbodl 6 Ul &b Iaz Sifstu : (6x2=12)
(Answer any 6 of these questions.) (6x2=12)
31. 3G 3JUIeRAS fAfer GIRT 96 3II? 404 BT HCF 3R LCM SiId HIfSIe |

Find the HCF and LCM of 96 and 404 by prime factorisation method.
32.  ag [GHIA a8uG Siid DHIfSIE fSRIh 9[6RIDI DI AT el JUIeIbel ThHII: -3 3122 & |
Find a quadratic polynomial, the sum and product of whose zeroes are -3 and 2,

respectively.

33. del ciifSTe A ABC ~ A DEF 8 3112 301 813TWhcT ShaA9l: 64 cm’ 312 121 ecm’ 3 | AfS
EF= 15.4cm 8, dl BC SIId HIfS |
Let A ABC ~ A DEF and their areas be respectively, 64 cm” and 121 cm’. If
EF= 15.4cm, find BC.
34.  x-3181 U2 d8 fdog sirel Hifste il feigail (2, -5) 8li2 (-2, 9) A Az 3l
Find the point on the x- axis which is equidistant from the points (2,-5) and (-2,9).
35. o] folpIfcIe:  2tan’45° + sin’45° - cos’45°
Evaluate: 2tan’45° + sin°45° - cos45°
36, o Riog A 3, ger bt ek yar &t e dem & 31 A B Bog A g s Wit S, A qa
&l Broen. st dIfoTe |
The length of tangent from a point A at distance 5 cm from the centre of the circle is 4
cm. Find the radius of the circle.
37. U Il D ATl DI 1wl Siid bIfSte, fSrrdbt uf3fer 22 cm 3l

Find the area of a quadrant of a circle whose circumference is 22 cm.

38. U® URI Pl U dIR bl SIIdl 3 | forsaifciRad ol urd @2ot bl urfrapdr sirda hifore
(1) O IS IR (ii) D fAuH =
A die is thrown once. Find the probability of getting:

(1) a prime number. (i1) an odd number.
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foraat 91 A fbodl 6 uesll &b a2 diforu :- (3x6=18)
(Answer any 6 of these questions.) (3x6=18)

39. Rig HIRIE b 3+4V5 0D USRI IR S |

Prove that 3+4\/5 is an irrational number.

40. AHIDIVIYSA x - y+1= 0 3R 3x+2y-12=0 DI MDY e A Bt BISIE |
Solve graphically: x - y+1= 0 and 3x+2y-12=0.

41. {3t A.P. DI 17di UG 3AD 10d UG A 7 3MfD & | DI Ad 3012 ST DIfSIT |
The 17th term of an A.P. exceeds its 10th term by 7. Find the common difference.

42 a8 3fofurd SiId bifte, 51w faigail A(1.-5) 3li2 B (-4,5) I f3icTIol arcir J¥RAs x-
3181 A fAenfora axar 3 |
Find the ratio in which line segment joining A(1,-5) and B (-4,5) is divided by x-axis.

43. oGl A (-5,-1) , B(3,-5) 312 C (5,2) 3 Solol dIcl BI9[sT ®I &1 ST i
Find the area of the triangle formed by the points A (-5,-1), B(3,-5) and C (5,2).

44, RIgG DIoIN : /1_SinA =secA+tan A

1+sin A
1-sin

=secA+tan A

Prove that :

45, Scm Brsar oot v ga HIfIg | g 3 8em g2 ferd v feig A gea uz Fuel vaar goa
bl IdolI DIfoIu |
Draw a circle of radius Scm. From a point 8 cm away from its centre, construct a pair of

tangents to the circle.

46.  3IIDIe1 3, aerior OPBQ o 3icIsid b dsf OABC dloll 8311 8 | Al OA =20 cm 3, el

BRIIfBA 91191 BT SIThd SIIA DIfSIv] (1t = 3.14 DI URIISI hIfoIo)
In figure, a square OABC is inscribed in a quadrant OPBQ. If OA=20 cm, find the area

of the shaded region. (Use 7T = 3.14).
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2

7~

(0 A P
foraot 31 A fAbodl 4 Uil & Iaz SifStu : (5%4=20)

(Answer any 4 of these questions.)

47.  fgara Jefiaur 2x°-7x +3=0 @I fdfdepd2 , Fcll Bl udpfer aen fardt 251 ot ueilst
B2 Il S IS |
Find out discriminant, nature of roots and roots using quadratic formula of the

quadratic equation 2x° -7x+ 3=0.

48. Rig difSte b afe {2t Brarst bt v 9sI1 b AR 362 1 s3I DI fHrool-3rcol
fdgai u2 ufercsdg a2l arclt 3xa1 308 Asirof 3iofurd 3 fasnfora wadi 8 |
Prove that, if a line drawn parallel to one side of a triangle and intersect other two

sides in distinct points, the other two sides are divided in the same ratio.

49.  dfiolz O 3MrerR A 3 U AT I 3 4m 3112 9m Bl g3 U2 Bera o) fdigail 2 fiome
& {92 & IooRrel BIUI YD DIUI 3 Rig HIfSTe a5 stiorz b Sars 6m 8|
The angles of elevation of the top of a tower from two points at a distance of 4 m and 9
m from the base of the tower and in the same straight line with it are complementary.

Prove that the height of the tower is 6 m.

50. ©P BIA U 3AEIBlle] U2 XS UD P P DR P & 1ol Broars 1em & el 9ip bl Sars
3Dl BIsAI & SRISR 8l 33 SRR DI 3MRIcol T P Ul 3 SII Hifstel

A solid is in the shape of a cone standing on a hemisphere whose radii are lcm and the

height of the cone is equal to its radius. Find the volume of this solid in terms of Tt.

51. & &bl a6 A ol 3R HUR A LIl BD dciol 9P P B [Soold P MDR DI 3,
f311cbl S5ars 16 em 8 e foraret 3l Sl BRI &bl Broard wagr: 8 cm 312 20 cm &} 2 20
ufer cfic &1 62 31 331 Iclol DI YT 912 Aol Icl G&I PI A SiId HifSel

A container, opened from the top and made up of a metal sheet, is in the form of a

frustum of a cone of height 16 cm with radii of its lower and upper ends as 8 cm and 20
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cm, respectively. Find the cost of the milk which can completely fill the container, at the

rate of Rs 20 per litre.
52. forFol 3ifdsi A dgerd SiId HifSTe :

doI 3loaRIAA | 10-20 20-30 30-40 40-50 50-60

TAR—ARAL 6 8 15 9 8

Find the Mode of following data:

Class Interval | 10-20 20-30 30-40 40-50 50-60

Frequency 6 8 15 9 8
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SIRAAUS IIf&IPD 3lofzielol Ud Ufdrgiur ufsee, il
aiftfes sneafdre udisn
(2023- 2024)
3R DiSIDT

ufercol uest Ul (aedforss)

Answer Key of Model Question Paper (Objective)

F&TT-10 f¥I- MATHEMATICS
U261 IR IR U9%T AR £ B3
1 16. d
2. 17. c
3. 18. b
4. 19. c
5. 20. b
6. 21. b
7. 22. c
8. 23. ¢
9. 24. b
10. 25. a
11. 26. a
12. 27. b
13. 28. a
14. 29. b
15. 30. b
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